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Time : 3 hours Maximum Marks : 100

Note: Answer any five of the following questions. All
questions carry equal marks. Write each answer in
no more than 1000 words.

1. Why do you think most women work in the
informal sector of economy in India ? Discuss. 20

2. What is the reason of devaluation of women’s
work in our society ? How can this be changed ?
Discuss. 20

3. Is gender segregation in work productive ?
Justify your argument with suitable examples. 20

4. What is the contribution of women in the
making of the national economy ? Why do you
think it is often not counted separately ?
Discuss. 20

MGSE-009 1 P.T.O.



5. Explain Marx’s theory of wage exploitation. How
does this theory account for exploitation of
women in drawing wages less than men ?
Discuss. 20

6. Why did Self-Employed Women’s Union in
South Africa emerge ? Discuss in the light of

similar unions of self-employed women in India. 20

7. Does the policy of Social Protection bring social
equity ? Analyse the success and failure of this

policy in India. 20
8. Write short notes on any four of the

following : 4x5=20

(a) Household

(b) Unpaid Work

(0 ILO

(d) Search Theory of Work

(e) National Sample Survey
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TIZ:  [Aefifaa 7 @ feat gia g & s dfaw | gt
Il & 3 THHF & | YdF YT H FH TTHT

1000 37551 7 ferf@w |

1. 39ehl T H, WRd § Afehat Afgard srefeqasen &
A= &9 § g ) i 8 2 == hIfe | 20

2. THR GATS H AfSATST b HIHRSI bl hH 3ichd
HRU FT g ? 39 HIGR hl JcAl hd ST Fohdl 3@ ?

==t HIfT | 20
3. I HHHS I HiGAT AT T B & ATd STeT-IeAT

HET AWIE g ? U b hi gfee 3fwa Igrewn

Tfga HifT | 20
4. TS gz & fmior § afgeneti o1 TIeer w0

2 2 A9 T T, HiEAT3T & FeH bl ThEL IqH

T 3T | R TR AT AT ? == T | 20
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5. TEE % Hegl W0 % fagia i smen Hif |
e Sl T | A Iad e #, afgenet % o
% foTu g fuga S8 IaEr § 2 == HIT | 20
6. Thu STheh H TEUSAIR W Higell R I
Icafd A1 g ? UA H GHM foher o TIUSHTR ITed
Hige = h HeToR =1 hIoT | 20

7. I G e <l HAifd qmiioes wHaT a7 2
Rd # 39 Aifd 6 gwadr iR fawaar w1 fovewo

éz_ﬂQI 20
8. fmfifga & & &<l ww w dfera fewafvmd
%‘f\@l: 4x5=20
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